Math 152 Sec S10NO1 - Test 1 | | Jan 26 2010

Question 1:

(a)[4 points] Let f(z) = vz —2 and g(z) = 1 — 2z. Determine and simplify f o g. State the
domain.

(:Fog)(x) = ?(j(‘x)) = W = W -_—\) —2x-|

*

) Mi”&*) must have (-ax)-2 20

~| 2 2x
. P
v - < -~
X € 2
oo OCOW\ OV\V\ of f-og is C.-°°) ~1l] )

(b)[4 points] Again let f(z) = v/z — 2 and g(z) = 1 — 2z. Determine and simplify g o f. State
the domain. :

(goél)(x): g(;g;g): =2 gbd = "’l\]’X"L .

*

L/LS“V% %) vwiugt have xX-2 20,
x= 2

a'é o(omo\:w\ o‘? 90* {5 [2,0").

(c)[2 points] Let H(z) = and g(z) = z + 1. Determine the function f so that H(z) =

(fog)(z) .

vr+1
2

Moo = Yl Vgool
z 2
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Question 2:

(a)[5 points] Let f(z) = 22 — 43 . Determine f~1(z).
_ 2 x=3
x4
Xe>Ys 23'3
— ’)C

-)(.‘9.(_4‘)(.:2«‘3,’3
Xwg- lg = —-3-49%x
.,}(x-.z)= —3-Y4x

4= - 3 - qx
, 4x
v 5- Cx) = ___i_z_—_— . X #F 2 |
(b)[3 points] Use part (a) to determine the domain and range of f(z) = 25_: 43 :
5—()— lx;‘:’ lhas  olomoun {xéﬁll x,.;z-,—q"g-

o

(= coy=d) U (=4, ).
f\/’c?w\a_e ‘/2) ;F(x) LS e olomoun a() ;S-‘—Cx)

w\/vlf/Cf 1S {erMX#Z‘% ov (-ao)z,)u(z,oc).

(c)[2 points] If (3,—7) and (5, 3) are points on the graph of a function g(z), calculate the value
of g71(3) — 9(3) -

(3i—1) - \Ouivi' on 3\{‘@9\'\ % tg=g(>c) > %(3)=;~q, M%“(q)ﬂ'
(513) @ polvt en GeEph {9900 S 46)=3 amdl 47(5)=5

%"63)-3@) = s-(-% =
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Question 3:

(a)[5 points] Neatly sketch the graph of f(z) = 22 — 1 . Indicate at least one point on your

graph.

o 3

- - — S $S— ma

(b)[5 points] Solve for :

2m2+7z — 4z+7

2
X +Fx x+F

27 "=(2%)

Xl Fx
t 2%+
2 = 2 +1

.xz'-(—fl' x = dx +14
2
X +SX -4=0
(x-2)(x+F) =0

x=2 _ xX=-

p)
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! Question 4:

(a)[2 points] Compute a decimal approximation to log; 19. (Round your final answer to 3 deci-
mal places.)

, - b 19 |
| = ~ /.513
log 1 e F

(b)[4 points] Express the following as sums and/or differences of logarithms. Where possible
express powers as factors:
|:(.'L' )2:| 2/3

72 -1
2| [(x )" 1
3 x®
\W CY'L’!‘) - \\.\. (,X '""‘)

o (x-) - 2 \K[cx—\)cxﬂ):)
\A«(X"“—f)— —é—: \\A—(Xr'() - %\w(x‘ﬂ).

N

-_—

i

2
3

L
3
4
3

(c)[4 points] Write as a single logarithm:

4
8log, V3z — 2 —log, ( ) + log, 4

o‘g, (W) ‘/og/"f/-\—la; x+l%/(

log (2>c l) '\"ko%\ X

= ko‘g QI?L (3x—3_)qj

ll

N
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Question 5:

(a)[5 points] Solve the following logarithmic equation for z:

1 4)+1 3) =1 wates
ogs (z +4) +logs (z +3) = } ’X+¢f>0) X3 >0
\og [(x+'-l~)(x+3)]= | x4, x>-3
. S X >3
x+y)(x+3) = 6 |

F+Fx 6 =0
(xr6)(x+1) =O

(b)[5 points] A certain population grows according to the model P(t) = 500e where ¢ represents
time in days and ¢ = 0 corresponds to the present. If the population doubles in five days, how
long will it take to grow from 500 to 2500 individuals? Round your answer to the nearest day.

P(s)=2 Vo) ) SO 5’006#5 - (00O
es-ﬁ - 2
sk = ln L
4. = . >
(¥)t y
Now <saloe So0 & = 250 for €
()t |
()t = s
apn — IHF :\\: /Z 0‘035
t fw e ”
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